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Answers for Lesson 8-1, pp. 407-408  Exercises

Yes; there is one range value for each domain value.

No; there are two range values for the domain values
-4 and 3.

No; there are two range values for the domain value 6.
No; there are three range values for the domain value 3.

Yes; there is one range value for each domain value.

6-10. Answers may vary. Samples are given.

6.

No; each distance (domain value) may take you
different lengths of times (range values).

No; subscribers of a specific age (domain value) may
pay different subscription prices (range values).

Yes; for each length of cloth (domain value), there is
one price (range value).

No; each bus (domain value) may contain different
numbers of students (range values).

10. Yes; for each number of students (domain value), there

11. A function; no vertical 12. A function: no vertical
line passes through line passes through
two graphed points. two graphed points.
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Is a desired number of buses (range value).
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Answers for Lesson 8-1, pp. 407-408  Exercises (cont.)

13. Not a function; a vertical 14. Not a function; a vertical

line passes through both line passes through both
(-1, 3)and (-1, 2). (2,-1) and (2, 4).
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15. A function; thereis 16. Not a function; domain
only one range value value —1 has two range
for each domain value. values 4 and 9.
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17. Not a function: domain
value —2 has two range
values 2 and 3.
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Answers for Lesson 8-1, pp. 407-408

Exercises (cont.)

18. Not a function; domain
value of 4 has two range
values —8 and 6; domain
value 1 has range values

of 2, 5, and —6.
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20. A function; no vertical
line passes through two

points on the graph.
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19.

21.

A function; no vertical
line passes through two
points on the graph.
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Not a function; a vertical
line passes through both
(—=7,3)and (—7,—3) and
through both (=5, 1)

and (-5, —-1).
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Answers for Lesson 8-1, pp. 407-408  Exercises (cont.)

22.

23.

24,

25.

206.

21.

28.
29.

A function; no vertical line passes through two points
on the graph.
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No; yes; arelation can have more than one range value
for a domain value and thereby not be a function. A
function is a relation by definition.

For each side length, there is one and only one area of
the square.

A function can have the same y-coordinate with
different x-coordinates, but it cannot have the
same x-coordinate with different y-coordinates.

Each range value is two greater than its domain value.

Each range value is the absolute value of its domain
value.

Each range value is 0.5 times its domain value.

Each range value is the square of its domain value.

P i SRR PR 1|

Pre-Algebra



@ Pearson Education, Inc., publishing as Pearson Prentice Hall, Al rights reserved.

Answers for Lesson 8-1, pp. 407-408  Exercises (cont.)

30. a Answers may vary. Sample:
{(_1! 1)! (Os 2)! (1! 2)}s
{(_1! 1)! (0! 1)! (0! 2)! (1! 1)}
b. For samples in 30a: Function; no vertical
line passes through two graphed points.

A
4.V

8

*1
Ja| 2 2 | 4

¥

A

I
-

4

Y

Not a function; a vertical line passes through
both (0, 1) and (0, 2).
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